5/8 x 3-1/2 HHCS (1)

2" CHAN FRMG (REF) \

5/8 FLAT WASHER (1)

5/8 GR 5 HEX NUT (1)

SFH-576 (1)

BRACING OF:
2" FRAMING TO TOP
OF NETWORK BAY CHANNEL

SFC-2 (2)

5/8 ET LOCK WASHER(2)

/ NETWORK BAY(REF)

5/8 x 1.75 HHCS(1)

SFH-576K

5/8 x 3-1/2 GR 5 BOLT (4)

5/8 THRD'D RD (REF)

SFH-580 (2)

2" CHAN FRMG (REF)

L

5/8 ET LOCK WASHER (8)

5/8 HEX NUT (8)

BRACING OF:
2" FRAMING TO ROD(PR)
SPECIAL APPLICATION

am
]

R .

SFH-580K

<06/30/09>

Moreng Telecom Products
973-237-2001
www.morengtel.com

bt



http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-01%20SFC2.pdf
http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-01%20SFC2.pdf

